PbB30 - ks
BB S0 - Ny
WA TG0 - dks
LA g0 R
PMAEZ 1S = Sy

C} PP - B
PRI - iy {Blk

R21x2.8-44/ 4k

@PII-J&:

KT - ey

G

DETAIL ) L
564 - \ B & | ~
175 |?e.-_. i_u e | .h:?*f);

: TN

l
L —

DPELCORIA- OO5424/C -24053007

. PAPKQMNOB

I 1.Uvomite galtnenie v batoZinovom priestoresfll 2. Demontujie.zadny plastovy naraznik

a kovovii vystuhu naraznikas l] 3:0dstrafite 2 gumové krytky z otvorov A. M 4. Vyvrtajte 2
otvory D22mm v miestach bedov B. l 5.Ta7ngé zariadenie montujte podiaobrazka.
Nasurite ram 1 do nosnikov karosérie. Do montaznyeh otvorov A & B'vioZte upeviiovacie

skrutky M10x90 s pouzitim podloziek 2 a 3 a distanényeh rirok. Vyvitajte 4 otvary D9mm

v miestach bodov C. V&eiky skrutkevé spoje detiahnite mementom podia tabulky. |
6.Elektroinstalaciu zapojte podra navodu. ] 7.Skentrolujte spravnost pripojenia
elektroinstalacie. l 8.Demontujte spojovaciu gulu. I 9.Vyrezte vybrania v spodnej €asti
néraznika na drziak spojovacej gule a elektrozasuvky — DETAIL. B 10.Namontujte spat

zadny plastovy naraznik bez k vkt
 11.Prevedte spatni montaz d e ¥/
spojovaciu gulu. Dotiahnite skruty spojovace] dtile (dfZial

podla tabulky.

FITTING INSTRUCTIONSm q

I 1. Release the padding from both sides of the
bumper and metallic reinforcement beam of bumper. l 3.Remove 2 rubber cabs in the
lugagge compartment at the holes A. l 4.Drill the existing centre points in the position of
holes B to D22mm. [ 5.Install the tow-bar as shown in the picture. Insert the tow bar into
the consoles of the bodywork. Put the M10x90 bolts into assembly holes A and B make
use of bearings 2 and 3 and distance tubes. Drill the existing centre points in the position
of holes C to D9mm. Put the M8x30 bolts into assembly holes C make use of bearings 4.
Tighten the bolts using a torque-wrench to the specified torque. ] 6.Connect the
electrical installation as described in the instructions for use. ] 7.Make sure the electrical
installation is properly connected. l 8.Dismount the coupling ball. l 9.Make a recess in
the lower part of the bumper for the linkage ball holder and electrical sockets — DETAIL.
[ 10.Replace the rear plastic bumper without the metal reinforcement, which will be
replaced by the tow-bar frame. l 11. Reassemble any removed parts. l 12. Fit the
linkage ball. Tighten the screws of the linkage ball (holder of the linkage ball) to the
torque shown in the table.

- V miestach stykovych pldch sa musi odstranit’ pruzna ochrana
karosérie,vozidias

- Vitané otvory treba o3setrit antikor6znou hmotou.

- Pouzite len.dodany spojovaci materiaiw, predpisanejtriede kvality.

- Elektricke zariadenie sa namantuje podla podmienok prevadzky
cestnychwvozidiel na pozemnych kemunikagiach.

- Udaj S 0 maximalnom zvislom zatazeni na gulu je uvedeny na
vyrobnom §titku tazného zariadenia.

- Znom zariageni nie je mozné ni¢ upravovat ani menit.
ram i . : eko v3etky spoje podla
B2 t u vae a
spBocerBuidfm pripade akychkolvek nejasn@sti je nutne obratit sa na vyrobcu
gge compartment. Jif 2.Dismoul

7ného zariadenia.

andex.rg—

- Remove insulating material on a car body in grips and joints of a
coupling device with a car body.

- Put the anticorrosive substance on the drilled holes.

- Use supplied mechanical strength jointing material.

- Wiring of a coupling device must be up to a standard and car maker
requirements.

- Statement S about the maximum vertical ball downtake is printed on
the tow bar label.

- On the tow bar is no modification possible

- Check all the joints, look in the table of the spining moments, before
finishing the montage!

- Contact the tow bar marker with any questions.

- The manufacturer is not responsible for the damages caused by
wrong using on the product.

Tabulka utahovacich momentov skrutkovych spojov pevnosti 8.8 / Table of specified torque and hardenss settings 8.8
M6 - 9,5Nm, M8 - 23Nm, M10 - 46Nm, M10x1,25 - 49Nm, M12 - 79Nm, M12x1,25 - 87Nm, M12x1,5 - 83Nm, M14 - 125Nm, M16 - 195Nm



http://magfarkop.ru/

